
Determineren oef. 2 
 
Het prs. / ipf. van de -mi werkwoorden 
 
A. Geef de gevraagde vorm 
1. 3e pl. ind. prs. Act. < deivknumi 
2. dat. sg. M. ptc. prs. Act. < tivqhmi 
3. 2e sg. ind. ipf. Med. < deivknumi 
4. 1e pl. ind. prs. Act. < divdwmi 
5. 1e sg. ind. ipf. Med. < tivqhmi 
6. inf. prs. Med. < divdwmi 
7. dat. pl. F. ptc. prs. Act. < divdwmi 
8. 2e sg. imp. prs. Med. < tivqhmi 
9. inf. prs. Act. < tivqhmi 
10. 3e sg. ind. prs. Act. < deivknumi 
 
 
B. Determineer de volgende werkwoordsvormen 
1. tivqh~ 
2. ejdivdou 
3. deivknusqe (2x) 
4. tiqevn (2x) 
5. divdotai 

6. tivqei 
7. divdoso 
8. divdw~ 
9. tivqesai 
10. didovnta (3x) 

 
 
 
 
 
 
 
Antwoorden 2A 
1. deiknuvasin 
2. tiqevnti 
3. ejdeivknuso 
4. divdomen 
5. ejtiqevmhn 

6. divdosqai 
7. didouvsai~ 
8. tivqeso 
9. tiqevnai 
10. deivknusin 

 
 
Antwoorden 2B 
1. 2e sg. ind. prs. Act. < tivqhmi 
2. 3e sg. ind. ipf. Act. < divdwmi 
3. 2e pl. ind. / imp. prs. Med. < deivknumi 
4. nom. / acc. sg. N. ptc. prs. Act. < tivqhmi 
5. 3e sg. ind. prs. Med. < divdwmi 
6. 2e sg. imp. prs. Act. < tivqhmi 
7. 2e sg. imp. prs. Med. < divdwmi 
8. 2e sg. ind. prs. Act. < divdwmi 
9. 2e sg. ind. prs. Med. < tivqhmi 
10. acc. sg. M. / nom. / acc. pl. N. ptc. prs. Act. <  divdwmi 


